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Assessment Objectives (AOs) 

 

Candidates are expected to demonstrate their ability to: 

AO1 
Recall, select, use and communicate their knowledge and understanding of history. 

AO2 
Demonstrate their understanding of the past through explanation and analysis of: 

 key concepts: causation, consequence, continuity, change and significance within an historical context 

 key features and characteristics of the periods studied and the relationships between them. 

AO3 Understand, analyse and evaluate: 

 a range of source material as part of an historical enquiry 

 how aspects of the past have been interpreted and represented in different ways as part of an historical enquiry. 
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Section A – Medicine Through Time 
 

Q Answer Marks Guidance 

1 (a) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 7  

Q: Study Sources A and B. Do these two sources show 
that the Romans understood less about medicine than the 
Egyptians? Use the sources and your knowledge to 
explain your answer. 

Level 4 (6–7 marks)  

Candidates show sound understanding of the sources and 
knowledge and understanding of medicine in both 
Egyptian and Roman times in order to produce a response 
directly comparing their understanding to AGREE AND 
DISAGREE in detail whether the Romans understood less 
about medicine than the Egyptians.  

Level 3 (4–5 marks)  

Candidates show some understanding of  the sources, and 
some knowledge and understanding of medicine in both 
Egyptian and Roman times in order to produce a response to 
AGREE OR DISAGREE explaining in some detail whether 
the Romans understood less about medicine than the 
Egyptians. 

Level 2 (2–3 marks)  

Candidates describe the source(s) and show limited 
knowledge and understanding of medicine in Egyptian and 
Roman times. No comparison. 

Level 1 (1 mark) 

Candidates describe the source(s) and produce a very limited 
response. Surface detail used. 

Level 0 (0 marks)  

No response or no response worthy of credit. 

7 
 

This is an example of a top level response that may be used as guidance, 
demonstrating evidence of all three AOs. 
 

I do not really agree with this although the sources might suggest it. Source A 
shows the Egyptians obviously had some knowledge of the human body. The 
source shows that they have investigated the body and its functions and they 
know about the heart, the liver and other organs. They also seem to believe 
in natural causes of disease when they say that diseases are caused 'by 
overfilling with blood'. Source B on the other hand shows that the Romans 
are using the Greek god of medicine, Asclepios. They built temples to him 
and believed that they could visit him and be cured. This shows that the 
Romans believed in supernatural causes and cures while the Egyptians 
believed in natural. However, this is not really true. The Egyptians also 
believed in gods causing illnesses such as Bes while the Romans spent a lot 
of time building public facilities such as aqueducts, sewers and public baths 
because they realised the connection between disease and dirt and dirty 
water. In fact, both the Egyptians and the Romans had supernatural and 
natural beliefs about medicine but I would say the Romans were more 
advanced because of their public health improvements.      
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Section A – Medicine Through Time 
 

Q Answer Marks Guidance 

1 (b) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 8  

Q: Study Source C. ‘Greek ideas about medicine were still 
accepted in the eighteenth century.’ How far does this 
source support this interpretation? Use the source and 
your knowledge to explain your answer. 
 

Level 4 (7–8 marks)  

Candidates demonstrate sound knowledge and 
understanding of the period, and sound analysis and 
evaluation of the source, to evaluate effectively the 
interpretation that Greek ideas about medicine were still 
accepted in the eighteenth century.(supports and challenges  
the interpretation L4/7) (plus recognises critical nature of 
cartoon L4/8)  

Level 3 (5–6 marks) 

Candidates demonstrate some knowledge and understanding 
of the period, and some understanding of the source, to 
evaluate the interpretation that Greek ideas about medicine 
were still accepted in the eighteenth century. (supports or 
challenges the interpretation) 

Level 2 (3–4 marks)  

Candidates demonstrate basic knowledge and understanding 
of the period, and basic understanding of the source, to 
comment on the interpretation that Greek ideas were still 
accepted in the eighteenth century. (identification level) 

Level 1 (1–2 marks) 

Candidates describe the source and produce a simple 
response or misinterpretation of source. 

Level 0 (0 marks)  

No response or no response worthy of credit. 

8 This is an example of a top level response that may be used as guidance 
demonstrating evidence of all three AOs. 

 

This source only partly supports this interpretation. The source shows a 
family being treated for the flu and the doctor and the surgeon treating them 
by blood-letting. This was based on the Greek idea of the Theory of Four 
Humours. The letting of blood was meant to bring the humours back into 
balance. This seems to show that Greek ideas were still being used and 
there is other evidence that the Four Humours were used at this time. Barber 
surgeons still carried out blood-letting and had special blood-letting kits they 
would take around with them. They still even used leeches. However, the 
drawing seems to be mocking the use of bleeding and so this suggests that 
the artist at least, does not accept these Greek ideas. On the other hand, the 
fact that he is mocking its use suggests that he feels he has to do this 
because many people do accept the ideas.   

However, many advances had been made since Greek times, and Harvey by 
proving that blood circulated around the body proved that blood-letting was 
not an effective treatment. This reduced its use but it was not really dropped 
until successful blood transfusions were able to be carried out in the early 
twentieth century. Of course, other Greek ideas like gods causing and curing 
diseases were certainly no longer accepted because by the eighteenth 
century most people knew that disease had natural causes.  
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Section A – Medicine Through Time 
 

Q Answer Marks Guidance 

2 (a)  5  

Q: Briefly describe prehistoric ideas about illness. 

 

One mark for each valid idea.  

Up to three marks for an idea that is described in detail.  

Allow a maximum of one mark for general answers lacking in 
specific contextual knowledge. 

0 marks = no response or no response worthy of credit. 

5 Answers could include:  

 evil spirits could make people sick 

 you became sick if your spirit left your body 

 medicine men could deal with the spirits and make people better 

 charms could ward off evil spirits 

 simple illness could be treated by use of herbs 

 evil spirits can be made to enter the body and make somebody ill by 
use of a pointing bone 
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Section A – Medicine Through Time 
 

Q Answer Marks Guidance 

2 (b) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 7  

Q: Why was public health in the Middle Ages so poor? 
Explain your answer. 

 

Level 4 (7 marks) 

Candidates demonstrate comprehensive knowledge and 
understanding of why public health in the Middle Ages was so 
poor. They produce a multi-causal response that 
demonstrates thorough understanding of the past through 
explanation and analysis of the relevant key concepts and 
features of the Medieval period and its public health.  

Level 3 (4−6 marks) 

Candidates demonstrate sound knowledge and 
understanding of why public health in the Middle Ages was so 
poor. They produce a single-causal response that 
demonstrates understanding of the past through explanation 
and analysis of the relevant key concepts and features of  
Medieval public health. L3/4 explanation about lack of 
medical knowledge because it had not been discovered. 

Level 2 (2−3 marks) 

Candidates demonstrate some knowledge and understanding 
of why public health in the Middle Ages was so poor. They 
produce a basic response. Identification Level 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge and 
understanding of why public health in the Middle Ages was so 
poor. 

Level 0 (0 marks) 

No response or no response worthy of credit. 

7 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 

One of the reasons why public health in the Middle Ages was so poor was 
the fall of the Roman Empire. Goths invaded and destroyed many of the 
Roman cities. These cities were in ruins and their public health systems fell 
into decay and were lost. There was also no proper government for a long 
time and you need strong governments to provide public health facilities. 
Roman libraries were also destroyed and this meant that ideas about the 
importance of public health were also lost. 

Later in the Middle Ages governments did not think it was their job to look 
after public health and provide facilities. Monasteries had good public health 
but in the rest of the country it was dreadful. In towns there was rubbish in 
the streets, animals wandered around spreading diseases and rivers were 
used for drinking and for depositing human waste. These conditions made it 
easy for the Black Death to spread. It was like this because there was no 
understanding of what caused disease. Most people were Christians and 
thought illness was sent as a punishment by God. This meant they did not 
realise how important it was to provide clean living conditions and so little 
was done.   
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Section A – Medicine Through Time 
 

Q Answer Marks Guidance 

2 (c) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 11 
(8 + 3) 

 This question also carries 3 additional marks for spelling, 
punctuation and grammar; use the separate marking grid on page 43 to 
allocate SPaG marks. 

Q: ‘The authorities responded to the plague in similar 
ways in the fourteenth and seventeenth centuries.’ How far 
do you agree with this statement? Explain your answer. 

 

Level 5 (7–8 marks) 

Candidates demonstrate comprehensive knowledge and 
understanding of medicine through time in order to explain 
how far they agree that the authorities responded to the 
plague in similar ways in the two periods. They produce a 
fully-developed response that demonstrates thorough 
understanding of the past through explanation and analysis of 
the relevant key concepts, and features of the period to justify 
a valid conclusion. 

Written work is legible and spelling, grammar and punctuation 
are accurate. Meaning is communicated very clearly. 

Level 4 (5−6 marks) 

Candidates demonstrate sound knowledge and 
understanding of medicine through time in order to explain 
both sides of the argument about whether the authorities 
responded to the plague in similar ways in the two periods. 
They produce a well-developed response that demonstrates 
good understanding of the past through explanation and 
analysis of some relevant key concepts, features of the 
period.  

Written work is legible and spelling, grammar and punctuation 
are mostly accurate. Meaning is communicated clearly. 

Level 3 (3–4 marks) 

Candidates demonstrate some knowledge and understanding 
of medicine through time in order to give one side of the 

8 This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 

I think there were similarities and differences in the ways the authorities 
responded to the plague in these different periods. In the fourteenth century 
they did order the streets to be cleaned because they thought that the smells 
from the waste was causing the plague. They also told people not to eat too 
much because this put the humours out of balance which was another cause. 
They encouraged people to light fires to keep the bad smells away. The king 
ordered bishops to lead processions pleading with God to end the plague. In 
the seventeenth century many of these methods were still used. Rakers were 
employed to clean the streets as people still believed bad air was the cause 
and fires were lit in streets to purify the air. The Government ordered public 
prayers and fasting because they thought the plague was sent by God. 
These methods were the same because their ideas about the causes of the 
plague were the same - bad air and a punishment by God.  

 

However, there were also differences. The reaction in the seventeenth 
century was more organised. Households that had the plague were shut up 
in their houses to stop them spreading it. Examiners were sent round to put 
red crosses on their door. Searchers were used to discover which houses 
had people who had died of the plague. Regulations were passed saying that 
all the bodies had to be buried at least six feet deep and the burials had to be 
at night time with no one being allowed to be present.  

 

Many of the ideas about what caused the plague had not changed. They still 
thought it was spread by bad air caused by rubbish and waste or by God 
sending it as a punishment. This meant that many of the things the 
authorities did were similar e.g. fires and cleaning the streets, but the 
response of the authorities in the seventeenth century was far more 
organised. More regulations were passed and they interfered in people's 
lives more to try and stop the plague spreading.  
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Q Answer Marks Guidance 

2 (c) 
 

argument about the similarity or difference in the response of 
the authorities to the plague They produce a response that 
demonstrates some understanding of the past.  

Written work is legible and spelling, grammar and punctuation 
are mostly accurate. Meaning is communicated clearly. 

Level 2 (2 marks) 

Candidates use some relevant knowledge to identify 
examples of difference and/or similarity in the response of the 
authorities to the plague. They produce a basic descriptive 
response but there is no comparison over time. 

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of the response of 
the authorities to the plague  

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 0 (0 marks) 

No response or no response worthy of credit. 
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Section A – Medicine Through Time 
 

Q Answer Marks Guidance 

3 (a)  5  

Q: Briefly describe the work of Pare. 

 

One mark for each valid example identified.  

Up to three marks for an example that is described in detail.  

Allow a maximum of one mark for general answers lacking in 
specific contextual knowledge. 

0 marks = no response or no response worthy of credit. 

5 Answers could include:  

 used ligatures instead of cauterising when treating wounds 

 used soothing ointments instead of burning oils 

 developed artificial limbs 

 used an experiment to prove that bezoar did not work 
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Section A – Medicine Through Time 
 

Q Answer Marks Guidance 

3 (b)  7  

Q: Explain why Harvey was able to make advances in 
medicine at this time.  

 

Level 4 (7 marks) 

Candidates demonstrate comprehensive knowledge to 
explain reasons why Harvey was able to make advances. 
They produce a multi-causal response that demonstrates 
thorough understanding of the Medical Renaissance through 
explanation and analysis of the relevant key concepts and 
features of the period. 

Level 3 (4–6 marks) 

Candidates demonstrate sound knowledge to explain why 
Harvey was able to make advances. They produce a single-
causal response that demonstrates understanding of the 
Medical Renaissance. 

Level 2 (2–3 marks) 

Candidates demonstrate some knowledge of why Harvey was 
able to make advances. They produce a basic response. 
Identification level. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of Harvey's 
advances.  

Level 0 (0 marks) 

No response or no response worthy of credit. 

7 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 

 

 Harvey's important advance was to prove the blood circulates around the 
body and is pumped round by the power of the beating of the heart. This was 
different from old ideas that the body was constantly using up blood and then 
replacing it. He was able to do this at that time because he was working at the 
time of the Medical Renaissance. This was a time when people were taking a 
lot of interest in how the natural world around them worked and were 
questioning old ideas. One important invention at that time was a mechanical 
water pump. It was used to deal with fires. This pump may have given Harvey 
the idea of the heart acting as a pump and sending blood around the body. 
Past doctors like Galen would never have had this idea because they had not 
seen these water pumps. 
 
Another reason was that because it was the time of the Renaissance people 
were new ideas through experiments. Pare had used an experiment to prove 
that bezoar did not work. Harvey used an experiment to test his idea about the 
circulation of the blood. He carried out an experiment on the arm that showed 
that their were valves in the veins that made sure the blood only flowed one 
way. Again he would not have carried out an experiment if he had lived before 
the Medical Renaissance.  



A954B/12 Mark Scheme June 2016 
 

12 

Section A – Medicine Through Time 
 

Q Answer Marks Guidance 

3 (c) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 11 
(8 + 3) 

 This question also carries 3 additional marks for spelling, 
punctuation and grammar; use the separate marking grid on page 43 to 
allocate SPaG marks. 

Q: 'Vesalius was more important than Harvey in the 
history of medicine.' How far do you agree with this 
statement? Explain your answer. 

 

Level 5 (7–8 marks) 

Candidates demonstrate comprehensive knowledge and 
understanding of medicine through time in order to explain 
how far they agree that Vesalius was more important than 
Harvey in the history of medicine. They produce a fully 
developed response that demonstrates thorough 
understanding of the past through explanation and analysis 
of the relevant key concepts, and features of the period to 
justify a valid conclusion. 

Written work is legible and spelling, grammar and 
punctuation are accurate. Meaning is communicated very 
clearly. 

Level 4 (5−6 marks) 

Candidates demonstrate sound knowledge and 
understanding of medicine through time in order to explain 
both sides of the argument about whether Vesalius was 
more important than Harvey in the history of medicine. They 
produce a well-developed response that demonstrates good 
understanding of the past through explanation and analysis 
of some relevant key concepts, features of the period. 

Written work is legible and spelling, grammar and 
punctuation are mostly accurate. Meaning is communicated 
clearly. 
 
 

8 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 
I agree with this statement because I think that Harvey's work depended on 
the progress made by Vesalius. He proved that Galen was wrong about the 
anatomy of the body. For example, that the lower jaw is made of one piece 
and not two as Galen claimed. He showed that Galen was wrong because he 
had based his work on the dissection of animals. Vesalius argued that the only 
way to find out about the human body was to dissect human bodies. This led 
to people realising that Galen's ideas had to be tested rather than just being 
accepted. Vesalius also produced a book full of illustrations of parts of the 
human body. The book was printed and thousands of copies were circulated 
showing doctors how the body was really structured. His book became a bible 
for doctors. He also encouraged doctors to find out about the body by carrying 
out dissections and these were introduced into medical training.  
 
Harvey's work was also very important. His discovery that blood circulated 
around the body was a step forward from old ideas and meant that the need 
for blood transfusions could be understood. However, it took a long time for 
successful blood transfusions to be developed because they did not know 
about different blood groups. Harvey did not know about these either. So 
although Harvey made blood transfusions possible, it needed further 
discoveries before they could be used. Also Harvey's questioning of old ideas 
and his use of experiments were influenced by Vesalius who started these 
approaches. Vesalius' work also had a faster impact than Harvey's.  He 
encouraged people to question Galen and his new ideas about the body were 
spread quickly using the printing press. He also gave others the methods by 
which they could make further discoveries about the human body. 
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Q Answer Marks Guidance 

3 (c) 
 

 

Level 3 (3–4 marks) 

Candidates demonstrate some knowledge and 
understanding of the impact of the work of Vesalius and/or 
Harvey in order to give one side of the argument. They 
produce a response that demonstrates some understanding 
of the past.  

Written work is legible and spelling, grammar and 
punctuation are mostly accurate. Meaning is communicated 
clearly. 

Level 2 (2 marks) 

Candidates use some relevant knowledge to identify 
examples of the work of Vesalius and/or Harvey. They 
produce a basic response. 

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of the work of 
Vesalius and Harvey. 

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 0 (0 marks) 

No response or no response worthy of credit. 
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Section A – Medicine Through Time 
 

Q Answer Marks Guidance 

4 (a)  5  

Q: Briefly describe the work of Simpson. 

 

One mark for each valid example of Simpson's work. 

Up to three marks for an example that is described in detail. 

Allow a maximum of one mark for general answers lacking in 
specific contextual knowledge. 

0 marks = no response or no response worthy of credit. 

5 Answers could include:  

 carried out an experiment to discover chloroform as a useful 
anaesthetic 

  realised that an alternative to ether was needed 

 used chloroform during childbirth 

 wrote articles supporting its use and persuaded other doctors to use 
it 

 Queen Victoria had chloroform for the birth of her eight child 
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Section A – Medicine Through Time 
 

 
 

Q Answer Marks Guidance 

4 (b) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 7  

Q: Explain why the work of Koch was important in the 
development of medicine. 

 

Level 4 (7 marks) 

Candidates demonstrate comprehensive knowledge to 
explain why the work of Koch was important in the 
development of medicine. They explain several reasons that 
demonstrate thorough understanding of the past, and through 
explanation and analysis of the relevant key concepts and 
features of the period. 

Level 3 (4−6 marks) 

Candidates demonstrate sound knowledge to explain why 
Koch was important in the development of medicine. They 
produce a single-causal response that demonstrates 
understanding of the past. 

Level 2 (2−3 marks) 

Candidates demonstrate some knowledge of Koch's work and 
its importance They produce a basic response. Identification 
level 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of Koch's work. 

Level 0 (0 marks) 

No response or no response worthy of credit. 

7 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 

Koch's work was important because he was able to find a way of proving 
which bacteria was causing a particular disease. He did this by injecting the 
same type of bacteria into lots of mice. They all ended up with anthrax. This 
was important because scientists now had a way of finding the bacteria which 
caused other diseases such as cholera and typhoid. It was only once they 
knew which germ caused a particular disease that they could develop drugs 
to fight it. This led to the development of a whole range of vaccines such as 
one that prevented cholera. 

 

Another reason why he was important was that he developed a method for 
growing and observing bacteria. He used a new method for growing the 
bacteria and then developed a method of staining them with dyes so they 
could be seen. Once they could be easily seen it was easier for scientists to 
work on them and find out more about them. He also developed a way of 
photographing the germs so they could be studied more closely. This led to 
other germs being discovered like that for septicaemia. 
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Section A – Medicine Through Time 
 

Q Answer Marks Guidance 

4 (c) 
 

 11 
(8 + 3) 

 This question also carries 3 additional marks for spelling, 
punctuation and grammar; use the separate marking grid on page 43 to 
allocate SPaG marks. 

Q: ‘Jenner was more important than Pasteur in the history 
of medicine.'  Explain how far you agree with this 
statement. 

 

Level 5 (7–8 marks) 

Candidates demonstrate comprehensive knowledge and 
understanding in order to explain how far they agree that 
Jenner was more significant than Pasteur. They produce a 
fully-developed response that demonstrates thorough 
understanding of the past through explanation and analysis of 
the relevant key concepts, and features to justify a valid 
conclusion.  

Written work is legible and spelling, grammar and punctuation 
are accurate. Meaning is communicated very clearly. 

Level 4 (5–6 marks) 

Candidates demonstrate sound knowledge and 
understanding of both individuals in order to explain whether 
Jenner was more important in the history of medicine than 
Pasteur. They produce a well-developed response that 
demonstrates good understanding of the past through 
explanation and analysis of some relevant key concepts, and 
features.  

Written work is legible and spelling, grammar and punctuation 
are mostly accurate. Meaning is communicated clearly. 

8 This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 

 

I think Pasteur was more important for several reasons. The work of Jenner 
was very significant because he was the person who discovered the process 
of vaccination. He realised that dairymaids who caught cowpox did not seem 
to ever catch the much more serious disease of smallpox. He carried out an 
experiment on a boy called James Phipps and showed how vaccinating 
someone with cowpox could protect them against smallpox. Smallpox was a 
killer at the time and so this was an important step forward and saved 
thousands of lives. It was a big improvement on inoculation which used 
smallpox itself and sometimes killed people.   
 
Pasteur was important for more than just one reason. He developed Jenner's 
work on vaccinations. Jenner had come to a full stop because he never 
understood why vaccination worked. This meant it could not be developed to 
protect people from other diseases. Pasteur did this. Through his work on 
chicken cholera he understood that a weakened version of the germ would 
protect people. This made it possible for a whole range of vaccines to be 
developed e.g. for anthrax and rabies. Within twenty years vaccines had been 
developed for a whole series of serious diseases. Jenner would never have 
been able to do his. Pasteur disproved spontaneous generation and 
developed the germ theory of disease. This was the basis of all the important 
developments in fighting disease in the nineteenth century. It made possible 
the development of drugs to cure diseases. Koch's work would not have been 
possible without Pasteur's theory. 
 
So Pasteur was much more important. Jenner never understood how 
vaccination worked and so his work was a dead end. It could not lead to other 
developments in fighting disease and for other vaccines to be developed until 
the work of Pasteur which made more vaccines, and the development of 
drugs, possible.  
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Q Answer Marks Guidance 

4 (c) 
 

Level 3 (3–4 marks) 

Candidates demonstrate some knowledge and understanding 
of the significance of Jenner or Pasteur in order to give one 
side of the argument. They produce a response that 
demonstrates some understanding of the past.  

Written work is legible and spelling, grammar and punctuation 
are mostly accurate. Meaning is communicated clearly. 

Level 2 (2 marks) 

Candidates use some relevant knowledge to identify reasons 
why the work of Jenner and/or Pasteur was important. They 
produce a basic response. 

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of developments 
in the period. 

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 0 (0 mark) 

No response or no response worthy of credit. 
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Section A – Crime and Punishment Through Time 
 

Q Answer Marks Guidance 

5 (a)  7  

Q: Study Source A. Why was this source published at this 
time? Use the source and your knowledge to explain your 
answer. 
 

Level 4 (6–7 marks)  

Candidates show sound understanding of the source and 
sound knowledge and understanding of witches and witch-
hunting in the seventeenth century. They interpret the source  
and use its purpose (intended impact),and knowledge of the 
context, to explain why it was published in the seventeenth 
century. 

Level 3 (4–5 marks)  

Candidates show some understanding of the source and 
some knowledge and some understanding of witches and 
witch-hunting in the seventeenth century.. They interpret the 
source its message to explain why it was published then.  

Level 2 (2–3 marks)  

Candidates show limited knowledge and understanding of 
witches in the seventeenth century. They explain some 
context but fail to explain the message or purpose of the 
source or they explain the message or purpose without 
setting it in context.  

Level 1 (1 mark) 

Candidates describe the source and produce a very limited 
response. 

Level 0 (0 marks)  

No response or no response worthy of credit. 

7 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of all three AOs. 
 
This source was published at this time because people were very worried by 
witches. In this period there was an enormous increase in the number of 
people being accused of being a witch and some of them were hanged. An Act 
of Parliament had been passed making death one of the punishments. This 
rise in witch-hunting may have been caused by all the social and religious 
changes of the time. People felt very insecure and often blamed witches for 
their worries and problems. Around the time of this source there were even 
witch-finders like Matthew Hopkins. People were happy to pay them if they 
found out who was a witch. 
 
This source is telling everyone that witches have been executed. Most of the 
witches mentioned are women and this was usually the case. People are 
shown celebrating the fact that they are being hanged. The source could have 
been published as a warning to people of the dangers of being a witch. It 
shows that the authorities will come down hard on them if they have relations 
with the devil and do his work. The message is clear - don't do it. The source 
was also published to reassure people that they were being dealt with. People 
at the time thought that witches were causing all kinds of problems like bad 
harvests and they would be pleased to see that they are being punished.  
 

Show can be an easy indicator of message 



A954B/12 Mark Scheme June 2016 
 

19 

Section A – Crime and Punishment Through Time 
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5 (b) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 8  

Q: Study Sources B and C. 'The importance of religion in 
crime and punishment did not change in the period 1066 
to 1600.' How far do you agree with this interpretation? 
Use the sources and your knowledge to explain your 
answer. 

Level 4 (7–8 marks)  

Candidates demonstrate sound knowledge and 
understanding of the period, and sound analysis and 
evaluation of the source, to evaluate effectively the 
interpretation that the importance of religion did not change in 
the period 1066-1600.  Argues FOR AND AGAINST the 
interpretation 

Level 3 (5–6 marks) 

Candidates demonstrate some knowledge and understanding 
of the period, and some understanding of the source, to 
evaluate the interpretation that the importance of religion did 
not change in the period 1066-1600. Argues FOR OR 
AGAINST the interpretation 

Level 2 (3–4 marks)  

Candidates demonstrate basic knowledge and understanding 
of the period, and basic understanding of the source, to 
comment on the interpretation that the importance of religion 
did not change in the period 1066-1600. There is no  
comparison to show change over time OR Identifies valid 
comparisons 

Level 1 (1–2 marks) 

Candidates describe the source(s) and produce a simple 
response. 

Level 0 (0 marks)  

No response or no response worthy of credit. 

8 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of all three AOs. 
 

I agree with this interpretation to the extent that religion was always important 
in crime and punishment during this period. Source B shows that at the 
beginning of the period they turned to God to decide if people were guilty or 
not of crimes. This shows ordeal by cold water. The accused was put into the 
water on the end of the rope. The rope was knotted and if the knot went 
below the surface he was innocent because the pure water had been willing 
to accept the person. This showed that God said he was innocent. In some 
ways religion became even more important because trial by battle was 
introduced which was another way that God decided if someone was 
innocent. However, as the period went on juries decided most cases and 
royal courts were set up all over the country. Trial by ordeal died out after 
1200. Source C shows that religion was still important at the end of the 
period. One of the most serious offences was to be a heretic. This meant 
going against the official religion of the day. It shows that heretics were 
burned. This was because if people disagreed with the religion of the 
government they might rise up in rebellion as they did in Elizabeth's reign. So 
religion did stay important throughout the period but reasons why it was 
important did change.  

 

Reference to sources may be implicit 



A954B/12 Mark Scheme June 2016 
 

20 

Section A – Crime and Punishment Through Time 
 

Q Answer Marks Guidance 

6 (a)  5  

Q: Briefly describe how Anglo-Saxons punished 
criminals. 

 

One mark for each valid way in which Anglo-Saxons punished 
criminals.  

Up to three marks for an example that is described in detail. 

Allow a maximum of one mark for general answers lacking in 
specific contextual knowledge. 

0 marks = no response or no response worthy of credit. 

5 Answers could include:  

 the blood-feud which allowed the victim's family to hunt down those 
responsible for the crime 

 wergilds, the blood price or money fines 

 being outlawed 

 mutilation or death 

 prisons were used to hold prisoners before trial  

 banishment 

 hanging 
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Q Answer Marks Guidance 

6 (b)  7  

Q: Explain how the story of Robin Hood is useful evidence 
about crime and punishment in the Middle Ages.  

 
Level 4 (7 marks) 

Candidates demonstrate comprehensive knowledge of how 
medieval manorial courts imposed law and order. They 
produce a multi-example response that demonstrates 
thorough understanding of the story of Robin Hood and how it 
is useful evidence through explanation and analysis of the 
relevant key concepts and features of the period. 

Level 3 (4−6 marks) 

Candidates demonstrate sound knowledge of the story of 
Robin Hood and how it is useful evidence. They produce a 
single-example response that demonstrates understanding. 

Level 2 (2−3 marks) 

Candidates demonstrate some knowledge of the story of 
Robin Hood and how it is useful as evidence. They produce a 
basic response .Identifies ways the story may be useful. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of the story of 
Robin Hood and how it is useful evidence. 

Level 0 (0 marks) 

No response or no response worthy of credit. 

7 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 

 

Although Robin Hood may be fiction his story is still useful. It tells us what 
people in the Middle Ages wanted to hear. These stories would have been told 
by village story-tellers and tells us how unpopular sheriffs and tax collectors 
were at the time. In the stories Robin Hood, who is an outcast, always gets the 
better of these officials who were often hated. They often ruled unjustly and 
were corrupt. Robin Hood represented hope and justice. This tells us 
something about people's lives at the time and how they thought. 

 

The story of Robin Hood also tells us something about outlaws at the time. It 
tells us that they were often people who were fleeing the law and that there 
was no police force to hunt them down. This meant that they could collect 
together in bands and live in remote parts of the country like forests (the Robin 
stories are often set in places like this such as Sherwood Forest and 
Barnsdale). It tells us that they would kill animals owned by rich men in deer 
parks and were genuinely a nuisance. Although the stories are very romantic 
and unrealistic, there are parts of them that do tell us what the life of outlaws 
was like.    
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Q Answer Marks Guidance 

6 (c) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 11 
(8 + 3) 

 This question also carries 3 additional marks for spelling, 
punctuation and grammar; use the separate marking grid on page 43 to 
allocate SPaG marks. 

Q: 'The ways in which governments responded to 
problems of law and order changed little during the Middle 
Ages.'  How far do you agree with this statement? Explain 
your answer. 
 

Level 5 (7–8 marks) 

Candidates demonstrate comprehensive knowledge and 
understanding in order to explain whether the ways in which 
governments responded to problems of law and order 
changed little during the Middle Ages. They produce a fully 
developed response that demonstrates thorough 
understanding of the past through explanation and analysis of 
the relevant key concepts, and features of the period to justify 
a valid conclusion.  

Written work is legible and spelling, grammar and punctuation 
are accurate. Meaning is communicated very clearly. 

Level 4 (5−6 marks) 

Candidates demonstrate sound knowledge and 
understanding in order to explain  the ways in which 
governments responded to problems of law and order 
changed and changed little during the Middle Ages. They 
produce a well-developed response that demonstrates good 
understanding of the past through explanation and analysis of 
some relevant key concepts, and features of the period. 

Written work is legible and spelling, grammar and punctuation 
are mostly accurate. Meaning is communicated clearly. 

 
 
 
 

8 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 
I think there were several ways in which governments did change in the ways 
they responded to law and order. William I made big changes to try and cope 
with problems of law and order. This was especially important since he was a 
Norman and had to impose his ways on the Saxons. There were several 
rebellions against him. He decided that any crimes committed in the country 
were crimes against the king's peace rather than against other people. This 
meant that anyone committing a crime was going against him, which allowed 
him to punish criminals.  Fines that were imposed were paid to the king's 
officials. This was a big change because before the Normans they would have 
been paid to the victims as compensation. Gradually the king's power spread 
across the country with royal courts being set up and officials like sheriffs 
being appointed. This was a massive change from Saxons times when 
problems of law and order were often seen as private matters between the 
victims and the accused rather than a matter for the whole of society. 
 
There were ways in which things were not changed much. When William 
became king he realised that if he was to be accepted, he could not change 
everything. He kept many old laws so that he could be seen as the true heir of 
Edward the Confessor. He kept trial by ordeal. However, as the Middle Ages 
went on more and more methods from Saxon times died out and the idea of 
the 'king's peace' was spread across the country. Although some of the 
punishments did not change, the overall system did change. By the end of the 
Middle Ages there was a proper system of royal courts and officials to deal 
with problems of law and order which was not there at the beginning. These 
royal courts travelled to all parts of the country and local landowners acted as 
JPs to enforce the king's peace everywhere.  
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6 (c) 
 

 
Level 3 (3–4 marks) 

Candidates demonstrate some knowledge and understanding 
in order to give one side of the argument about whether the 
ways in which governments responded to problems of law 
and order changed little during the Middle Ages. They 
produce a response that demonstrates some understanding 
of the past.  

Written work is legible and spelling, grammar and punctuation 
are mostly accurate. Meaning is communicated clearly. 

Level 2 (2 marks) 

Candidates use some relevant knowledge to identify 
examples of how governments responded to problems of law 
and order in the Middle Ages. They produce a basic 
response.  

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of how 
governments responded to problems of law and order in the 
Middle Ages. 

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 0 (0 marks) 

No response or no response worthy of credit. 
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Section A – Crime and Punishment Through Time 
 

Q Answer Marks Guidance 

7 (a)  5  

Q: Briefly describe how highwaymen operated. 

 

One mark for each valid example of how highwaymen 
worked. 

Up to three marks for an example that is described in detail. 

Allow a maximum of one mark for general answers lacking in 
specific contextual knowledge. 

0 marks = no response or no response worthy of credit. 

5 Answers could include:  

 robbed travellers, coaches  

 operated mainly on the main routes into London 

 used horses and guns 

 often attacked the mail service 

 used isolated areas for their work such as heathland or woodland 
such as Hounslow Heath 
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Section A – Crime and Punishment Through Time 
 

Q Answer Marks Guidance 

7 (b)  7  

Q: Explain why the authorities found it difficult to end 
smuggling. 

 

Level 4 (7 marks) 

Candidates demonstrate comprehensive knowledge to 
explain why the authorities found it difficult to end smuggling. 
They produce a multi-causal response that demonstrates 
thorough understanding of the past through explanation and 
analysis of the relevant key concepts and features of the 
period. 

Level 3 (4−6 marks) 

Candidates demonstrate sound knowledge to explain why the 
authorities found it difficult to end smuggling. They produce a 
single-causal response that demonstrates understanding of 
the past. 

Level 2 (2−3 marks) 

Candidates demonstrate some knowledge of why the 
authorities found it difficult to end smuggling. They produce a 
basic response. Identification level 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of why the 
authorities found it difficult to end smuggling. 

Level 0 (0 marks) 

No response or no response worthy of credit. 

7 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 

There were many reasons why the authorities found it difficult to end 
smuggling. One was that it often took place on remote parts of the coast and 
in secluded coves that were difficult to find. There are hundreds of miles of 
coastline along the south coast and there were not enough revenue officers 
to keep an eye on it all. This made it easy for the smugglers who knew their 
coastline really well and would have lookouts posted just in case. Even if they 
were discovered, their gangs were large and violent enough, like the 
Hawkhurst gang, to fight and kill the customs officials.  

 

Another reason was that many people did not regard it as a crime. These 
people thought that the taxes the government put on imported good were too 
high and unfair. For many small communities along the south coast like those 
in Cornwall it was regarded as a normal part of life and most people were 
involved in one way or another. For many people it meant cheaper tea and 
other goods. If a smuggler was caught the local people would not inform on 
them so it was difficult to get a conviction. Even members of the government 
bought smuggled goods, so it was difficult to persuade many people what a 
serious crime it was. Many saw it as a 'social crime'  
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Q Answer Marks Guidance 

7 (c) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 11 
(8 + 3) 

 This question also carries 3 additional marks for spelling, 
punctuation and grammar; use the separate marking grid on page 43 to 
allocate SPaG marks. 

Q: 'In the period 1600-1850 the authorities were more 
concerned about crime against property than about other 
types of crimes.' How far do you agree with this 
statement? Explain your answer. 

 

Level 5 (7–8 marks) 

Candidates demonstrate comprehensive knowledge and 
understanding in order to explain how far the authorities were 
more concerned about crimes against property than about 
other types of crimes. They produce a fully developed 
response that demonstrates thorough understanding of the 
past through detailed explanation and analysis of the relevant 
key concepts, and features of law and order to justify a valid 
conclusion. 

Written work is legible and spelling, grammar and punctuation 
are accurate. Meaning is communicated very clearly. 

Level 4 (5−6 marks) 

Candidates demonstrate sound knowledge and 
understanding in order to explain both sides of the 
argument about how far the authorities were more concerned 
about crimes against property than about other types of 
crime. They produce a well-developed response that 
demonstrates good understanding of the past through 
explanation and analysis of some relevant key concepts, and 
features of law and order.  

Written work is legible and spelling, grammar and punctuation 
are mostly accurate. Meaning is communicated clearly. 

Level 3 (3–4 marks) 

Candidates demonstrate some knowledge and understanding 
of the authorities' attitudes towards crime in order to give one 
side of the argument. They produce a response that 

8 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 

 I agree with this statement. This was a period when the landowners 
governed the country with the monarch. They passed lots of laws to protect 
their property like the Bloody Code and the Black Act. Poaching is a good 
example. As the landowners owned the land, they thought they owned the 
animals on it like deer, rabbits and fish. They employed gamekeepers to stop 
anyone else hunting these animals. They also passed the Black Act which 
introduced the death penalty for anyone with a blackened face in any hunting 
area.  This was to protect the property of the rich people. The authorities also 
punished very harshly other crimes against property such as stealing sheep 
and burning down hay-ricks. The Bloody Code introduced the death penalty 
for hundreds of offences like this against property.  

 

The argument against the statement is that in this period there was a general 
worry that crime was going up. This might have been because of bad 
harvests and high food prices or soldiers returning from war. Broadsheets 
gave the impression that crime was rising rapidly. The authorities felt they 
had to act to protect everybody and this is why they introduced the harsh 
punishments in the Bloody Code. At that time they believed that harsh 
punishments deterred crime and that it was to no one's benefit to have 
lawlessness. 

 

Overall, I think the rich landowners were just looking after their own property. 
If you look at the offences that were given the hasher sentences like stealing 
sheep and poaching, they were often ones that were about the property of 
the rich. Parliament was dominated by the landowning classes and they used 
their power to protect their property.    
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7 (c) 
 

demonstrates some understanding of the past. 

Written work is legible and spelling, grammar and punctuation 
are mostly accurate. Meaning is communicated clearly. 

Level 2 (2 marks) 

Candidates use some relevant knowledge to identify 
examples of the authorities' attitudes towards crime. They 
produce a basic response. 

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of the attitude of 
the authorities towards crime. Written work contains mistakes 
in spelling, grammar and punctuation, which sometimes 
hinder communication. 

Level 0 (0 marks) 

No response or no response worthy of credit. 
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Q Answer Marks Guidance 

8 (a)  5  

Q: Briefly describe prison conditions for women at the 
beginning of the nineteenth century. 

 

One mark for each valid example identified. 

Up to three marks for an example that is described in detail. 

Allow a maximum of one mark for general answers lacking in 
specific contextual knowledge. 

0 marks = no response or no response worthy of credit. 

5 Answers could include:  

 crowded (120 in one cell), slept on the floor 

 mixed cells. 

 had all their children with them 

 dressed in rags, some nearly naked 

 they drank and swore 

 no attempt to reform or educate them 

 conditions were filthy and the smell was disgusting 
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Section A – Crime and Punishment Through Time 
 

Q Answer Marks Guidance 

8 (b)  7  

Q: Explain why transportation to Australia was feared.   

 

Level 4 (7 marks)  

Candidates demonstrate comprehensive knowledge of the 
reasons why transportation was feared. They produce a 
multi-causal response that demonstrate thorough 
understanding of the past through explanation and analysis of 
the relevant key concepts. 

Level 3 (4−6 marks)  

Candidates demonstrate sound knowledge of why 
transportation was feared. They explain one example that 
demonstrates understanding of the past. 

Level 2 (2−3 marks) 

Candidates demonstrate some knowledge of transportation. 
They produce a basic response. Identification level 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of transportation. 

Level 0 (0 marks) 

No response or no response worthy of credit. 

7 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 
People were afraid of transportation to Australia for many reasons. The 
conditions there were usually terrible especially in places like Tasmania. It was 
almost impossible to escape from. The only route of escape from Port Arthur 
was guarded by savage dogs who would tear the prisoners to pieces.  They 
could suffer from solitary confinement for hard labour for years, often working 
in chains They were often flogged. Some of the prisoners would deliberately 
murder other prisoners so that they themselves would be executed because 
they could not put up with the conditions anymore.  
 
Another reason was the fact that Australia was so far away and had only been 
discovered by Cook in the 1770s. For most people being sent off to Australia 
was like disappearing off the face of the earth. It also meant that the prisoner 
would have to leave his family behind. They would be left in poverty with no 
one to look after them and might well end up on the Poor Law.  This is why 
there was so much fuss when people like the Tolpuddle Martyrs were sent to 
Australia. Most of the people sent there were thieves and this seemed a 
terrible punishment to pay for such a small crime.  



A954B/12 Mark Scheme June 2016 
 

30 

Section A – Crime and Punishment Through Time 
 

Q Answer Marks Guidance 

8 (c) 
 

 11 
(8 + 3) 

 This question also carries 3 additional marks for spelling, 
punctuation and grammar; use the separate marking grid on page 
43 to allocate SPaG marks. 

Q: 'Prisons improved in the period 1750 to 1900.' How far do 
you agree with this statement? Explain your answer. 

Level 5 (7–8 marks) 

Candidates demonstrate comprehensive knowledge and 
understanding in order to explain whether prisons improved in the 
period 1750 to 1900.' They produce a fully-developed response that 
demonstrates thorough understanding of the past through detailed 
explanation and analysis of the relevant key concepts, and features 
to justify a valid conclusion. 

Written work is legible and spelling, grammar and punctuation are 
accurate. Meaning is communicated very clearly. 

Level 4 (5−6 marks) 

Candidates demonstrate sound knowledge and understanding in 
order to explain both sides of the argument about whether 
prisons improved in the period 1750 to 1900. They produce a well 
developed response that demonstrates good understanding of the 
past through explanation and analysis of some relevant key 
concepts, and features.  

Written work is legible and spelling, grammar and punctuation are 
mostly accurate. Meaning is communicated clearly. 

Level 3 (3–4 marks) 

Candidates demonstrate some knowledge and understanding of the  
improvement/lack of improvement in prisons in the period 1750 to 
1900. They produce a one-sided answer. They produce a 
response, not always fully developed, that demonstrates some 
understanding of the past.  

8 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 

I think there was an overall improvement in prisons. People like John 
Howard and Elizabeth Fry made people aware of the dreadful conditions 
and campaigned for improvements.  Howard made sure prison guards 
were paid rather than receiving fees from prisoners, that sanitary 
conditions improved and that surgeons and inspectors visited prisons on 
a regular basis. These reforms were introduced in the nineteenth 
century some time after Howard died.  Later prisoners were given 
separate cells and work was provided for them with the idea of 
reforming, as well as punishing, them. There were also improvements in 
the treatment of children.  Reformatory schools were set up to try and 
ensure that children gave up a life of crime and by the end of the 
nineteenth century no child prisoners were sent to adult prisons where 
they simply picked up criminal habits.  

 

However, there were also ways in which not only was there no 
improvement, but conditions got worse. It was claimed that reform did 
not work and reforms were passed to make prisons as terrifying as 
possible. Hard labour was increased and electric shocks were 
introduced. The separate system was meant to help reform prisoners 
but lead to dreadful conditions where they were not allowed to see other 
prisoners. Some went mad from loneliness. The silent system was a bit 
better because they were allowed to work together, although they could 
not talk. This reaction that set in during the second half of the period 
meant that despite the work of people like Fry, and despite conditions 
being cleaner, life in prison really got worse because of the loneliness 
and the pointless work they were given such as oakum picking and the 
treadwheel. By the end of the century the aim was to break prisoners 
rather than reform them.  



A954B/12 Mark Scheme June 2016 
 

31 

Section A – Crime and Punishment Through Time 
 

Q Answer Marks Guidance 

Written work is legible and spelling, grammar and punctuation are 
mostly accurate. Meaning is communicated clearly. 

Level 2 (2 marks) 

Candidates demonstrate some relevant knowledge to identify 
examples of improvement/lack of improvement in prisons in the 
period 1750 to 1900, and they produce a basic response.  

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of the state of prisons in 
the period 1750-1900. 

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 0 (0 marks) 

No response or no response worthy of credit. 
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Q Answer Marks Guidance 

9 (a) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 7  

Q: Study Source A. How is this source useful as evidence 
about railways in the 1820s? Explain your answer. 
 
Level 4 (5-6 marks)  

Candidates demonstrate a sophisticated knowledge and 
understanding of the period, of the introduction of the railways 
and opposition to them. They produce a sound evaluation of 
the source for utility by making sophisticated inferences from 
the source in context. They produce a fully developed 
response. 

. 
Level 3 (3-4 marks)  
Candidates demonstrate a sound knowledge and 
understanding of the period, of the introduction of the railways 
and opposition to them. They produce some evaluation of the 
source for utility by making valid inferences from the source in 
context and produce a developed response. 
 
Level 2 (2 marks) 
Candidates demonstrate some knowledge and understanding 
of the railways in the 1820s. They extract information from the 
source and use this as evidence of its usefulness. 

 

Level 1 (1 mark)  

Candidates describe the source and produce a very limited 
response. 

 

Level 0 (0 marks)  

No response or no response worthy of credit. 

 

7 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of all three AOs. 
 

This source is useful evidence about the railways in the 1820s because it 
tells you of the opposition they caused. It shows that the opposition started 
as soon as the first railways appeared. The source is telling us that canal and 
turnpike owners will oppose, as will landowners who do not want the railways 
going through their estates. The source is from 1825 and this is the date of 
the start of the first railway - the Stockton to Darlington Railway, and even 
before the building of the Liverpool and Manchester Railway. This shows that 
even before railways had become common the canal owners realised the 
railways were a threat because they were faster and might be cheaper. It 
also shows how suspicious people were of the unknown with landowners 
thinking railways will damage their cattle and horses. However, this source is 
making fun of arguments against the railway and dismisses them as 
'nonsense' and based on 'prejudice'. The author thinks the canal owners and 
other opponents are being selfish and are just trying to protect their own 
interests and are in the way of progress. This shows that in the 1820s there 
were people keen for the railways to develop. The author clearly supports the 
work of George Stephenson in building the Stockton to Darlington Railway 
and the plans for the railway between Liverpool and Manchester, and 
regards the canals and the roads as things of the past. 
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9 (b) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 6  

Q: Study Source B. Explain why this source was published 
in 1845.  
 

Level 4 (6–7 marks)  

Candidates show sound understanding of the source and 
sound knowledge and understanding of the railway 
boom/mania of the 1840s. They interpret the source and use 
its purpose (intended impact),and knowledge of the context, 
to explain why it was published in 1845. 

Level 3 (4–5 marks)  

Candidates show some understanding of the source and 
some knowledge and some understanding of the railway 
boom/mania of the 1840s. They interpret the source its 
message to explain why it was published then.  

Level 2 (2–3 marks)  

Candidates show limited knowledge and understanding of 
railways in the 1840s. They explain some context but fail to 
explain the message or purpose of the source or they explain 
the message or purpose without setting it in context.  

Level 1 (1 mark) 

Candidates describe the source and produce a very limited 
response. 

Level 0 (0 marks)  

 

6 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of all three AOs. 

 

This source was published because of the railway boom in the 1840s.  New 
railways were being built everywhere and people were buying shares in the 
new companies hoping to make lots of money. Thousands of miles of new 
track were being built. The cartoon is showing how the man in the middle 
was going to be a railway director in one of the new companies. The cartoon 
is suggesting that there were so many companies, that almost anyone could 
do this. The man's previous job was not actually a skilled one.  

Many people at this time did not think the boom in building railways could 
last. They thought that people like George Hudson who was leading the 
mania would end up losing his money - as he did. They thought some of the 
companies were bound to go bankrupt. The cartoonist believes this because 
he is making fun of the fact that anyone can go off and become a director in 
a railway company. The cartoon was published to warn people that the 
railway mania was not going to last and that it was all rather ridiculous. Its 
warning them against putting their money into the new railway companies. 

 

Messages/purpose based on valid misinterpretations of cartoon= L2 

 



A954B/12 Mark Scheme June 2016 
 

34 

Section B – Britain 1815-51 
 

Q Answer Marks Guidance 

9 (c) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 7  

Q: Study Source C. 'By 1851 opposition to railway had 
been overcome.'  Use the source and your knowledge to 
explain how far you agree with this interpretation. 

Level 4 (6–7 marks) 

Candidates demonstrate sound knowledge and 
understanding of the period, and sound evaluation of the 
source, to evaluate effectively the interpretation that 
opposition to the railways had been overcome by 1851.  

Level 3 (4–5 marks) 

Candidates demonstrate some knowledge and understanding 
of the period, and some understanding of the source, to 
evaluate the interpretation that opposition to the railways had 
been overcome by 1851. 

Level 2 (2–3 marks) 

Candidates demonstrate basic knowledge and understanding 
of the period, and basic understanding of the source, to 
comment on the interpretation that opposition to the railways 
had been overcome by 1851. 

Level 1 (1 mark) 

Candidates describe the source and produce a very limited 
response about the railways by 1851. 

Level 0 (0 marks) 
No response or no response worthy of credit. 
 

7 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of all three AOs. 
 

I do agree with this interpretation because by 1851 the benefits of the 
railways were so obvious that opposition was disappearing. The source does 
not support this view because it suggests that some people thought that 
travelling by railways was like signing your own death warrant. The 
undertaker thinks the railway passenger will soon be giving him business 
because the railway is very dangerous. It even has a surgery on the train for 
all the injured people when the train crashes. There were a lot of accidents at 
this time such as the Dee Bridge disaster in 1847 when several people were 
killed. However, the cartoonist may be making fun of these views.  

 

By 1851 many of the canals and turnpike trusts had gone bankrupt and much 
of the opposition to railways was disappearing. The railways were beginning 
to change people's lives for the better. Seaside holidays were now possible 
and fresh food could be delivered to towns quickly improving the diets of 
many people. The railways created lots of new jobs in towns like Swindon 
and in other industries like iron and coal. Farmers no longer opposed the 
railways because they could send their cattle to market by rail. For all these 
reasons, opposition to the railways was dying out.  

There were still some people worried about railway accidents but generally 
opposition to the railways was fading fast. This is especially shown because 
some of the people who had opposed railways like farmers, and canals and 
road companies (by carrying local goods to the railways), now realised they 
could benefit from them.  

L2- Allow valid misinterpretations of the cartoon. Eg. Rich and poor 
encouraged on the railways.  
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10 (a)  5  

Q: Briefly describe the campaign for parliamentary 
reform before 1832.  

 

One mark for each valid example identified. 

Up to three marks for an example that is described in detail. 

Allow a maximum of one mark for general answers lacking in 
specific contextual knowledge. 

0 marks = no response or no response worthy of credit. 

5 Answers could include:  

 Peterloo 

 the work of political unions, e.g. the Birmingham Political Union 

 the demonstrations in 1831, the 'Days of May'  the riots in Bristol 

 campaigns in the press 

 Whig government resigned, threat of new peers 

 the arguments made for reform e.g. middle classes deserved the vote, 
rotten boroughs 
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10 (b)  7  

Q: Explain why farm labourers took part in the Swing 
Riots in the early 1830s. 

 

Level 4 (7 marks) 

Candidates demonstrate comprehensive knowledge of why 
farm labourers took part in the Swing Riots in the early 
1830s. They produce a multi-causal response that 
demonstrates thorough understanding of the past through 
explanation and analysis of the relevant key features and 
concepts. 

Level 3 (4−6 marks) 

Candidates demonstrate sound knowledge of why farm 
labourers took part in the Swing Riots in the early 1830s. 
They produce a single-causal response that demonstrates 
understanding of the past. 

Level 2 (2−3 marks) 

Candidates demonstrate some knowledge of why farm 
labourers took part in the Swing Riots in the early 1830s. 
They produce a basic response. Identification.  

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of why the Swing 
Riots happened. 

Level 0 (0 marks) 

 

7 
 

 This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 

 

They took part in the riots because they were losing their jobs as farm 
labourers. Farmers were introducing machinery such as threshing machines 
to do the work of the labourers. One machine could do the work of several 
men. This was the only type of work they had in the winter and so they were 
facing poverty and starvation. Many of the riots consisted of attacks on 
threshing machines, burning hayricks and even attacking the homes of the  
farmers who were using them. This mainly happened in the south and east of 
the country where the farmers could afford the machines.  

 

What made the situation of the farm labourers worse was the general 
context. There were poor harvests in 1828-1830 and so prices of food went 
up making it hard for the labourers to feed their families. In 1830 there had 
been a revolution in France and this gave many workers the idea that they 
could revolt as well. Some farmers were also using cheap Irish labour which 
was pushing wages down. Some labourers had already had their wages 
reduced at a time when prices were going up. So it is clear that when 
threshing machines were introduced at a time when conditions were already 
hard, they were the last straw for the labourers and they started the riots.    
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 11 
(8 + 3) 

 This question also carries 3 additional marks for spelling, 
punctuation and grammar; use the separate marking grid on page 43 to 
allocate SPaG marks. 

Q: How far did the 1832 Reform Act satisfy those who 
had supported reform? Explain your answer. 

Level 5 (7–8 marks) 

Candidates demonstrate comprehensive knowledge and 
understanding in order to explain how far the 1832 Act 
satisfied those who supported reform. They produce a well-
developed response that demonstrates thorough 
understanding of the past through explanation and analysis 
of the relevant key concepts, and features to justify a valid 
conclusion.  

Written work is legible and spelling, grammar and 
punctuation are accurate. Meaning is communicated very 
clearly. 

Level 4 (5−6 marks) 

Candidates demonstrate sound knowledge and 
understanding in order to explain both sides of the argument 
about how far the 1832 Reform Act satisfied those who 
supported reform. They produce a developed response that 
demonstrates understanding of the past through explanation 
and analysis of some relevant key concepts and features.  

Written work is legible and spelling, grammar and 
punctuation are mostly accurate. Meaning is communicated 
clearly. 

Level 3 (4 marks) 

Candidates demonstrate some knowledge and 
understanding of the terms/results of the 1832 Reform Act to 
explain one side of the argument. They produce a response  

that demonstrates some understanding of the past. 

8 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 

 

I think that overall the Reform Act did not satisfy many of the people who had 
supported the idea of reform. The Reform Act still left the landowners in 
control and there were still rotten and pocket boroughs. Only a few more 
people got the vote and the radicals and working classes who had protested 
for the vote got nothing. This can be seen by the fact that just a few years 
later the Chartists appeared campaigning for parliamentary reform - for one 
man, one vote, for secret ballot and constituencies of equal size. This shows 
they were not satisfied with the reforms.  

However, some people who supported reform were satisfied. The Whigs who 
supported it to prevent a revolution or even more extreme reforms got what 
they wanted. The middle classes, such as factory owners, were given the 
vote and were pleased that large industrial cities now had their own MPs. 
These middle classes could now become MPs. Their belief that they were 
the ones making Britain wealthy and great and should be recognised by 
giving them a say in politics, was now accepted.  

 

So the answer to this question depends on who you look at. Different groups 
who supported reform wanted different things. Some got what they wanted, 
but others did not. For many radicals and working class people it was a great 
disappointment but they really never had a chance of getting the vote at that 
time. The Reform Act was a very small reform to keep a few middle-class 
people happy and to keep the landowners in power. 
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10 (c) 
 

 
 

Written work is legible and spelling, grammar and 
punctuation are mostly accurate. Meaning is communicated 
clearly. 

Level 2 (2–3 marks) 

Candidates use some relevant knowledge to identify some 
examples of the Reform Act satisfying or not satisfying those 
who supported reform. They produce a basic response. 

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of the terms or 
results of the Reform Act.  

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 0 (0 marks) 

No response or no response worthy of credit. 
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11 (a)  5  

Q: Briefly describe problems faced by the poor in the 
years immediately after 1815. 

 

One mark for each valid example identified.  

Up to three marks for an example that is described in detail. 

Allow a maximum of one mark for general answers lacking in 
specific contextual knowledge. 

0 marks = no response or no response worthy of credit 

5 Answers could include:  

 corn prices low meant reduction in wages or even unemployment for 
farm labourers 

 the 1815 Corn Law pushed up prices making the price of bread high 

 trade slump and factory exports slumped leading to unemployment in 
industrial towns 

 machinery putting some skilled workers out of work - the last of the 
Luddites 

 many landlords in the country and in cities were increasing rents 

 city living conditions with overcrowding and disease 
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 7  

Q: Explain how emigration from Britain solved the 
problems of some poor families. 

 

Level 4 (7 marks) 

Candidates demonstrate comprehensive knowledge to 
explain why how emigration solved the problems of some 
poor families. They produce a multi-causal response that 
demonstrates thorough understanding of the past through 
explanation and analysis of the relevant key features and 
concepts. 

Level 3 (4−6 marks) 

Candidates demonstrate sound knowledge to explain how 
emigration solved the problems of some poor families. They 
produce a single-causal response that demonstrates 
understanding of the past. 

Level 2 (2−3 marks) 

Candidates demonstrate some knowledge of emigration to 
produce a basic response. Identification. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of emigration.  

Level 0 (0 marks) 

No response or no response worthy of credit. 

7 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 

Emigration did help some families especially in the really difficult times of the 
1840s when there was the famine in Ireland when the potato crop failed and 
hundreds died. Emigrating was better than dying. Some of those that 
managed to get to America or Canada safely found a country where land was 
cheap, there were raw materials for building and it was possible to find a job 
because there were not too many people. Some people went out West onto 
the Plains where they bought their own land and built a homestead. They 
could never have done this in Britain. The Irish who headed for the cities 
were often given jobs and helped by Irish who had emigrated a few years 
earlier. 

Emigration solved the problems of others because of emigration schemes in 
Britain. Sometimes local landowners, or even parishes, funded these 
schemes to help people but also to get rid of the poor who were having to be 
paid for by poor relief. Many workers could not afford the journey and the 
schemes helped them with the costs. Some colonies like Australia even 
helped pay the costs because they were desperate to have more skilled 
people to help their country develop. The other big advantage of these 
schemes is that the emigrants were also helped once they had landed at the 
end of their journey. For example, they might be found jobs.   

 

Accept answers giving advantages to those left in Britain. 
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 11 
(8 + 3) 

 This question also carries 3 additional marks for spelling, 
punctuation and grammar; use the separate marking grid on page 43 to 
allocate SPaG marks. 

Q: 'The changes to the Poor Law system introduced in 
1834 were popular.' How far do you agree with this 
statement?  

 

Level 5 (7–8 marks) 

Candidates demonstrate comprehensive knowledge and 
understanding in order to explain how far the new Poor Law 
was popular. They produce a well-developed response that 
demonstrates thorough understanding of the past through 
explanation and analysis of the relevant key concepts and 
features to justify a valid conclusion.  

Written work is legible and spelling, grammar and 
punctuation are accurate. Meaning is communicated very 
clearly. 

Level 4 (5−6 marks) 

Candidates demonstrate sound knowledge and 
understanding in order to explain both sides of the argument 
about how far the New Poor Law was popular. They produce 
a developed response that demonstrates understanding of 
the past through explanation and analysis of some relevant 
key concepts and features.  

Written work is legible and spelling, grammar and 
punctuation are mostly accurate. Meaning is communicated 
clearly. 

Level 3 (4 marks) 

Candidates demonstrate some knowledge and 
understanding in order to give one side of the argument 
about how far the New Poor Law was popular. They produce 
a response that demonstrates some understanding of the 

8 
 

This is an example of a top level response that may be used as guidance 
demonstrating evidence of AOs 1 and 2. 
 
 The answer to this question depends who you look at. The middle class 
ratepayers who were having to pay more and more to pay for outdoor relief for 
the increasing numbers of poor were very pleased with the reforms. They 
thought that systems like Speenhamland had encouraged the poor not to work 
and to have large families that they could not support. Poor rates went up and 
up and many of those who paid them thought that more people should be 
forced to work. The changes in 1834 got rid of much outdoor relief and put 
people into the workhouse which was an awful experience. The idea was that 
this would encourage these people to find jobs. The costs went down and the 
middle classes were very pleased.  
 
On the other hand, the poor did not like the changes. Many could not help 
being poor or unemployed especially when there was a trade slump or 
employment was seasonal. Most were now simply put into workhouses. 
Families were separated, the discipline was harsh and the food was awful. 
They were made to do hard boring work. Going into the workhouse (many 
people never came out alive) became a nightmare for many poor people. If a 
husband died, for example, the wife and children would probably end up in the 
workhouse. So poor people hated the changes. There were riots against the 
workhouses. The Chartists opposed them.  
 
Overall, more people hated the new Poor Law than liked it but the government 
and the middle classes were very happy because they thought it cost less and 
stopped people shirking work. 
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past.  

Written work is legible and spelling, grammar and 
punctuation are mostly accurate. Meaning is communicated 
clearly. 

Level 2 (2−3 marks) 

Candidates use some relevant knowledge to identify reasons 
why the New Poor Law was popular/unpopular. They 
produce a basic response.  

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 1 (1 mark) 

Candidates demonstrate limited knowledge of the New Poor 
Law.  

Written work contains mistakes in spelling, grammar and 
punctuation, which sometimes hinder communication. 

Level 0 (0 marks) 

No response or no response worthy of credit. 
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Spelling, punctuation and grammar (SPaG) assessment grid for use with questions 2c, 3c, 4c, 6c, 7c, 8c, 10c and 11c 

 

High performance 3 marks 

Candidates spell, punctuate and use rules of grammar with consistent accuracy and effective control of meaning in the context of the demands 
of the question. Where required, they use a wide range of specialist terms adeptly and with precision. 

Intermediate performance 2 marks 

Candidates spell, punctuate and use rules of grammar with considerable accuracy and general control of meaning in the context of the 
demands of the question. Where required, they use a good range of specialist terms with facility. 

Threshold performance 1 mark 

Candidates spell, punctuate and use rules of grammar with reasonable accuracy in the context of the demands of the question. Any errors do 
not hinder meaning in the response. Where required, they use a limited range of specialist terms appropriately. 
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